
Subtract 2-digit from 2-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

53 - 26 =  

75 - 57 = 

81 - 57 =  

51 - 14 = 

60 - 42 = 

81 - 24 = 

98 - 29 = 

93 - 67 = 



Subtract 2-digit from 2-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

53 - 26 = 27  

75 - 57 = 18 

81 - 57 = 24  

51 - 14 = 37 

60 - 32 = 28 

81 - 24 = 57 

98 - 29 = 69 

93 - 67 = 26 


